SIHAZ 2010 &
Ol &FXE= 0 201 &
SHRZE  HAESEHIS
©ONEP= CERE)
2E .22 -3 .U - NREANY - HEZ HEA T X =N Xl & o Hws2
OtsdEAaEg e 1,254,103 2,055,156 801,053
Lol . 3AH 1,254,103 2,055, 156 801,053
dAal AN8s4H 2 Bs)s 2& 135,000 80,000 55,000
HFAoE 2SXE 2H(FAEEHI2) 135,000 80,000 55,000
SHEHIFEAE P2 X2 100,000 80,000 220,000
301 Let8 A2 100,000 80,000 220,000
02 EHetzLstii=z 100,000 80,000 20,000
SYHIAE SHEHAZ 400,000& *200H 80,000
MRES(OIsHAEHS G 2L 1,119,103 1,975,156 856,053
SBINEB(HAERHEIZ) 0 975,156 975, 156
SB&EXE 0 975,156 975,156
602 Ol Xl = 0 975,156 975,156
01 OlXl= 0 975, 156 975, 156
olxl= 975, 156
HWEHAHXS(HLAERHIIS) 0 1,000,000 1,000,000
LHEHHXI = 0 1,000,000 1,000,000
704 OIE2 0 1,000,000 1,000,000
01 OIE= 0 1,000,000 1,000,000
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